PlateWithRFID

Orderltem

-item : Menultem

-id :int

+getld()
+setOrderltem()

(just) DISH i

Table

-gqty :int

Menultem

-name : string

+setMenultem()
+getName()
+getPrice()
+assignToPlate()
+setStatus()

-id :int

Order

+login()

+activate()
+setCustomer()
+newOrder()
+showMenu()
+getPickedltem()
+displayOrderDetails()
+setOrderStatus()
+highlightltem()
+itemTouched()
+setCreditCardData()
+printReceipt()
+login()

+setStatus()

-items : Menultem
-status : string

+addltem()
+delltem()
+setStatus()
+setltemStatus()

+findltembyName() : Orderltem

+orderltemServed()
+checklfFullyServed()
+getPrice()

-description : string
-price : double

-photo : string
+getName()
+getDecription()
+getPrice()
+getShortDescription()

]

¢

"DISH"
"DISH of the menu"

Menu

-items : Menultem

+showMenu()
+getltems()

Customer

-bank : string

-creditCard : string

-pin :int

-creditCardNumber : string

+getTableld()
+authenticate()
+getOrder() : Order
+setTableStatus()

Coarse grained analysis model,
reflecting the basic entities of
the requirements

MUST revisit!

AN



S_Authenticate Customer

Nobody really uses the activation rectangle...
It's OK to skip

I — :Table AuthenticationManager

arrived(login, passWd)

e

:
|
?uthenticate(login, passwd)
|

Top Package::Customer 1

validate (login,passwd)

é ______________

<<create>>
+ :Customer

-

E<>, assingCustomer(Customer)
I
|

I




S_PlaceAnOrder

O

Top Package::Cus.c

newOrder()

=

setStatus("pending'

[All Orderltems

setStatus("pending") I

of Order]

|
|
i <<create>> -Order OrderManager
i | i
| | |
| I !
| | :
loop | I . . |
| displayMenu() | [until pick = exit] !
| |
b |
pickMenultem() : !
;I | |
I addltem() | !
| |
T — !
! ! new(Menultem,qgty) |
Messagel | — :Orderltem !
| |
|
| e | :
v I I T 4 |
| ! :
| L>» addltemToOrder(orderltem) !
: | : !
| | | |
| I | !
| I | !
| | | :
| I | !
| | | :
| |
D displaylOrderDetails() | !
l |
|
. |
l I
! I
N !
' I
|
|
|
|
|
|
|
I
|
=
|
|

What's wrong with this sequence?

Is it the job of the Table to "create" Orders and to add them to the OrderManager?

... the Manager who should really be the center of this, learns the news last...




S_DeliverPlate

:PlateWithRFID ChefPlateManager

:Orderltem

:Table

getlD() i

|

PR
setCurrentPlatelD(plateld)

|
l
|
Top Package::BenchRFIDReader :
|
|

N

setPlateAsServed()

— A
setStatus("comeNGetlt")

! /i assignToPlate(ID)
— >
highlightltem(Orderltem)
t 7z

Top Package::Chef

getlD()

Q |
«----d !
itemTouched(plateld)

Top Package::TableRFIDReader

:Order

IocateOrlderItem(pIateId)

I
OrderltemServed(orderltem)

setStatué("served)

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
N
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

checklIfFullyServed()

alt

setStatus("served")

[true]

Can we simplify it?

MUST revisit however...

Too complex (in sharp contrast to the simplicity of the use case).

(not necessarily, too often things are inherently complicated)




S_Checkout Too many alternatives to handle

:Table :Order TransactionManager
Top Package::Customer
checkout() i i i
_— | |
! getPrice() : !
- —> I
| | |
| | |
ST ] :
| | |
s f | | [until Bank says OK]
! l !
loop | | |
| | |
! | |
setCreditData(bank, creaditCard, CCnumber, pin) I I
| | |
“ setData(bank, creditICard, CCnumber, pin) :
- : >
! ! D getBank(Bank)
| |
: ! : pay(CCnumber, pin, amount)
I I !
| | |
| | :e __________________
I I |
I I
! D setStatus("paid”) Top Package::Bank
|
| |
I
|
: printReceipt()
k—

M






